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Show All Necessary Steps

M) If [ (x)= 3x -1 ,ifx <-1
2w 11 Lifx 51

(1 0g)(—V2)+(f -£)(05) =

a) —2
b) -3
c) -5
d)5
e) 0

,and g(x)= [[2x + 1]], then the value of

(2) Given f (x)=+/25—-x" and g(x)=x —3, then the domain of]i 1s:
g
a) [-5.5]
b) (—oo S]U[ oo)

) (-5.0)
D) [-53)U(3]
o) (.3) U3:2)
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(3) If f(x)=(x —3)" with domain (~0,3], thenf ~'(x)

a) =3-+/x
b) =3++/x
c) =3+/x
d) =3+x°

e) does not exist

h)—
(4) For f(x)=x’+3x —1, the difference quotient / (x i h) S (x ) =

a) 2x +3
b)2x +h +3
c)2—x+h
d) 2x

e) -3

(5) Let f (x)=x7?+1 with domain (—o0,0]. The value of /" ~'(26)

a) =5
b) =+£5
c) =-5
d)=-4

e) does not exist
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(6) Which one of the following functions in NOT an even function?

a)g(x):‘x‘+2
b)h(x)=1
c)s(x)=16x>+x
dyw(x)=+3-x"

e)k(x)=4+x"*
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(7) If a function y =f (x) has domain (—2,4] and range (—3,4), then the function

(8)

y ==-2f (%xj has:

a) domain =(—o0,00) and range = (-,

o0
612] and range:( 3,4

)
8,6)
4)
6)

b) domain =

d) domain =

b

(

c) domain ( ) and range =
(-2
(-

(-
,4) and range =(-3
e) domain =(—6 12] and range —( -8

b

If f(x)=x"+x,then (fofof _1)(—2)=

a) s

b) -5
c) —10
d) —4
e) -3

*)

Good Luck



